
w¶Jssmll W~ddFlflFjlS
GltpYl19~~S 26~140,000 = 3,640,OOO 3,640,OOO -O-

Fi1bb-x.muw19~~9 30x140,000 = 4,200,000 4,880,000 680,000 u

kffunilnlser8mCu~~d~ 4~140,000 = 560,000 620,000 60,000 u
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pJ*

ssg

13,780
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4,880,OOO 4,800,OOO 4,200,OOO

w&J~&bmnmm  80,000~ waoilJa:as~lnel~r~nSn7w  600,000 u

wndimlnsudatuiaw  680,000~
I

In@mwtGhud~ 40,000 x 16 35,000 x 16

620,000 (hl&hWl~l) 640,000 560,000

I
wadiJain~ln7  20,OOOF I wfdi.mndxi%Gniw  80,000 u

I
WWilJPlnJYLhJlfG  60,000~

I

k+umwPol  (nJ%$

3,140,000 3,000,000

L
wndiJ~lnmJa:uinr  140,000 u

I

J¶JLla:aJlm  (150,000 x 20) (140,000 x 20) ?lmrhnna

(3,000,000) 2,800,OOO

(150,000 - 140,000) x 20

L wWoilJI:oJ?lniilrSJn~~w~~ 200,000 u

IJ  = unfavorable F = favorble
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-
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44,000 IJIM

10,000 E1lYl

18,000 ¶JlM

80,000 ¶JlW

42,000 IJIM
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20,000 ¶Jl'yI

- ¶JlYl
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4.50 ¶JlW

1.00 ¶JlM

5.50  ¶JlM

250,000

100,000

350,000

100,000  v&au

95,000 l&au

90,000 MliW

4,500 IJIW

10 IJIM
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1.00 lJlW

6.00 LJIW

.50 lJ1w

7.50 IJIM

140,000 l.nw

50,000 lrln

190,000 Elm

70,000 estiau
60,000 e4l.h
65,000 W-i%J

11 lJlM
Y

65,000 Md% &$ :

71,500 mn

393,250 E1vl

33,000 mw

141,000 lJlYl

50,000 lJlW
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